SPRING 2020 Undergraduate/Graduate Academic Calendar

JANUARY

Th	16	New Students Arrive
F	17	Orientation for New Undergraduate Students
M	20	Martin Luther King Jr's Birthday Holiday
T	21	All Classes Begin (Full Semester and First 7-week)
T-F	21-24	Registration/Drop-Add for All Students Continues
F	24	Last Day to be Admitted & Registered
		Last Day to Add (LORA open until Midnight)
		Last Day to Change to Full-Time Status or to Audit
М	27	Last Day to Drop First 7-Week (LORA open until Midnight)
		Last Day for 100% Refund (First 7-Week*)
F	31	Last Day to Drop (LORA open until Midnight)
		Last Day for 100% Refund (Full Semester*)
		President's Convocation for Faculty and Staff (3:00pm)
	·	FEBRUARY
М	3	Last Day for 50% Refund (First 7-Week*)
F	21	Last Day for 50% Refund (Full Semester*)
M-F	24-28	Mardi Gras Holidays
[41-1	24-20	Marur Oras Floridays
		MARCH
М	2	Classes Resume
F	6	Mid-Term Deadline for posting Grades Midnight
		Fall 2018 Incomplete Grades (I) Changed to F
М	16	First 7-Week Classes End
T	17	Second 7-Week Classes Begin
М	23	Last Day to Drop Second 7-Week (LORA open until Midnight)
		Last Day for 100% Refund (Second 7-Week*)
F	27	Last Day to Withdraw (Full Semester)
М	30	Summer/Fall 2019 Registration Advising Begins
		APRIL
M	13	Summer/Fall 2019 Registration Begins
Th-M	9-13	Easter Holidays
T	14	Classes Resume
w	29	Last Day of Classes (Full Semester)
Th	30	Study Day/ Day Division: No Exam Allowed Except per Final Exam Schedule
		MAY
- -	4 -	
F-Th	1-7	Day Division Final Examinations
M-Th	4-7	Final Examinations for Graduate and Evening Courses
W	6	Last Day/Exam Second 7-Week
F	8	University Baccalaureate Mass
Sat	9	Commencement - Undergraduate and Graduate Students
М	11	Deadline for posting Undergraduate and Graduate Grades Monday at Midnight

Above dates are subject to change.

http://finance.loyno.edu/student-finance/refund-deadlines

SPRING 2020

ACADEMIC CALENDAR GRID - DAYTIME OFFERINGS

Start time between 8:00 a.m. and 3:30 p.m.

WEEK OF:		•	CLASS DA	Wk	HOLIDAYS				
JAN.	20	HOL	Т	W	R	F	1	M = MLK Birthday	
	27	М	Т	W	R	F	2		
FEB.	3	М	Т	W	R	F	3		
	10	М	T	W	R	F	4		
	17	М	Т	W	R	F	5		
	24	HOL	HOL	HOL	HOL	HOL	6	M-F Mardi Gras	
MAR.	2	М	Т	W	R	F	7		
	9	М	Т	W	R	F	8		
	16	М	Ţ	W	R	F	9		
	23	М	Т	W	R	F	10		
	30	М	Т	W	R	F	11		
APR.	6	М	Т	W	HOL	HOL	12	R-M = Easter	
	13	HOL	Т	W	R	F	13		
	20	М	Т	W	R	F	14		
	27	M	Т	W	Study	Exam	15	Exams (include Sat)	
MAY	4	<u>Exam</u>	<u>Exam</u>	<u>Exam</u>	<u>Exam</u>	_	16	Exams Cont.	
		12	14	14	12	12		9 Holidays	
							Comm	encement (S) May 11	
MWF	@	60 Minutes	X 38 =	2280 Mii	nutes or :	38.00 Ho	ırs		
MW, TR	@	90 Minutes	X 26 =	2340 Mii	nutes or :	39.00 Ho	urs		
F	@	180 Minutes	X 12 =	2 = 2160 Minutes or 36.00 Hours 9-12:15 pm, 1-4:15 pm (15 min b					

SPRING 2020 ACADEMIC CALENDAR GRID - EVENING OFFERINGS

Start time of 4:00 p.m. or Later

WEEK OF:	EK OF: CLAS					Wk	HOLIDAYS
JAN.	20	HOL	Т	W	R	1	M = MLK Birthday
	27	М	Т	W	R	2	
FEB.	3	М	T	W	R	3	
	10	М	τ	W	R	4	
	17	М	Т	W	R	5	
	24	HOL	HOL	HOL	HOL	6	M-R Mardi Gras
MAR.	2	М	T	W	R	7	
	9	М	Т	W	R	8	
	16	М	Т	W	R	9	
	23	M	Т	W	R	10	
	30	M	T	W	R	11	
APR.	6	M	Т	W	HOL	12	R-M = Easter
	13	HOL	Т	W	R	13	
	20	M	T	W	R	14	,
	27	M	T	W	Study	15	
MAY	4	<u>Exam</u>	<u>Exam</u>	<u>Exam</u>	<u>Exam</u>	16	Exams Cont.
		12	14	14	12		7 Holidays
						Comm	encement (S) May 09
MW, TR	@	90 Minutes	X 26 =	2340 Mir	nutes or 39	0.00 Hours	6:00-07:30,7:40-9:10
M, R	@	180 Minutes	X 12 =	2160 Mir	6:00-9:15 (15 min brk)		
T, W	@	160 Minutes	X 14 =	2240 Mir	6:00-8:55 (15 min brk)		

SPRING 2020

ACADEMIC CALENDAR GRID - 7 WEEK (U & V) OFFERINGS

Class Time MW or TR 6:00 p.m. - 8:55 p.m. (15 min brk)

WEEK OF			CLASS	DAYS		Wk	HOLIDAYS
JAN.	20	HOL	T(7wk)	W(7wk)	R(7wk)	1	M = MLK Birthday
	27	M(7wk)	T(7wk)	W(7wk)	R(7wk)	2	Green=1st 7 week
FEB.	3	M(7wk)	T(7wk)	W(7wk)	R(7wk)	3	Blue=1st 7 week
	10	M(7wk)	T(7wk)	W _(7wk)	R(7wk)	4	
	17	M(7wk)	T(7wk)	W(7wk)	R(7wk)	5	
	24	HOL	HOL	HOL	HOL	6	M-R Mardi Gras
MAR.	2	M(7wk)	T(7wk)	W(7wk)	R(7wk)	7	
	9	M(7wk)	T(7wk)	W(7wk)	R/Ex(7wk)	8	
	16	M/Ex(7wk)	T(7wk)	W(7wk)	R(7wk)	9	Red=2nd 7 week
	23	M(7wk)	T(7wk)	W(7wk)	R(7wk)	10	Purple=2nd 7 week
	30	M(7wk)	T(7wk)	W(7wk)	R(7wk)	11	
APR.	6	M(7wk)	T(7wk)	W(7wk)	HOL	12	R-M = Easter
	13	HOL	T(7v/k)	W(7wk)	R(7wk)	13	
	20	M(7wk)	T(7wk)	W(7wk)	R(7wk)	14	
	27	M(7wk)	T(7wk)	W(7wk)	R(7wk)	15	
MAY	4	<u>M(7wk)</u>	T/Ex(7wk)	W/Ex(7w)	Ŋ	16	Exams
		7/6	7/8	7/8	7/6		6 Holidays
						Comme	encement (S) May 09
MW,TR	@	160 Min	X 14 =	2240 Mi	nutes or 37.3	3 Hours	6:00 - 8:55 (15 min brk)
							7/24/2017

SPRING 2020 College of Law

JANUARY

Th	2	New Students Arrive Registration/Drop-Add for All Students Continues
M M-F F	6 6-10 10	All Law Classes Begin Late Registration & Drop/Add Continues Last Day to be Admitted & Registered Last Day to Add (LORA open until Midnight) Last Day to Change to Full-Time Status or to Audit
F	17	Last Day to Change to Full-Time Status of to Addit Last Day to Drop (LORA open until Midnight) Last Day for 100% Refund President's Convocation for Faculty and Staff (3:00pm)
M	20	Martin Luther King Jr's Birthday Holiday
		FEBRUARY
F M-T W(M)	7 24-25 26	Last Day for 50% Refund Mardi Gras Holidays Classes Resume (Wednesday is Monday)
F	13	MARCH Last Day to Withdraw
F	13	
M Th-M M T-W Th-W	6 9-13 20 21-22	Last Day to Withdraw
M Th-M M T-W	6 9-13 20 21-22	APRIL Summer/Fall 2019 Advising and Registration Begins Easter Holidays Last Day of Class Study Days

 $\underline{http://finance_loyno.edu/student-finance/refund-deadlines}$

Above dates are subject to change.

7/21/2017

SPRING 2020 COLLEGE OF LAW CALENDAR GRID

WEEK OF:			CLASS	DAYS			Wk	HOLIDAYS
JAN.	6	М	Т	W	R	F	1	
	13	М	Т	W	R	F	2	
	20	HOL	T	W	R	F	3	M = MLK Birthday
	27	М	Т	W	R	F	4	
FEB.	3	М	Т	W	R	F	5	
	10	М	Т	W	R	F	6	
	17	М	Т	W	R	F	7	
	24	HOL	HOL	M	R	F	8	M-T Mardi Gras
MAR.	2	M	T	W	R	F	9	
	9	М	Т	W	R	F	10	
·	16	М	Т	W	R	F	11	
	23	М	T	W	R	F	12	
	30	М	T	W	R	F	13	
APR.	6	М	T	W	HOL	HOL	14	R-M = Easter
	13	HOL	T	W	R	F	15	
	20	М	Study	Study	Exam	Exam	16	
	27	Exam	Exam	Exam	Exam	Exam	17	
MAY	4	<u>Exam</u>	<u>Exam</u>	<u>Exam</u>			18	
		14	14	14	14	14		·

6 Holidays/Day

Commencement (S) May 09

LAW: 70 College of Law class days excluding exams

^{*} All Monday courses meet Wednesday, March 6